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1� ������� ���	�
��� �����
�� ��: 032 =+′ yy. 
  � ���� ��� f  ���� ���� :8)0( =f. 
2�  ������ ���h  ��	�
��� �����
��������� ���:   
   042 =+−′ yy ���� h�  ��� ����-ln3.  
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1� ������� ���	�
��� �����
�� ��: )E(02 =−′ yy. 
2� ������� ���	�
��� �����
�� �����: )F(2 xeyy =−′. 

    ��������� ������� ���a   � b     ������ ����  �� g  �!"��
��  
  ������!�  :baexg x +=)( �����
�� �� (F). 
3� �# ��� h �����
�� �� $% (E) ��& '�"� ��& f = g + h 

 �����
�� �� $%(F). �����
�� ���� (���)� (F). 
4� �����
�� ���� ��� �
 (F)*��+
� $��� ,�� ���  $������ �

#��
�� �
 �
� ���
 $" .  
x2eC xe− xx2 eeC − xx2 ee − 
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1� ������� ���	�
��� �����
�� ��: )E(02 =+′ yy. 
2� ���	�
��� �����
�� �����: )F(cos52 xyy =+′. 
��    ��������� ������� �a   � b     ������ ����  �� g  �!"��
��  

  ������!�  :xbxaxg sincos)( += �����
�� �� (F). 
3� �# ��� f �����
�� �� $% (F)��& '�"� ��& f - g    $!%

 �����
�� ��(E) . �����
�� ���� (���)�(F). 
x2eC − xsinxcos2 + xsinxcos2Ce x2 ++− 
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1� ������� ���	�
��� �����
�� ��: )I(02 =+′ yy. 
2� ���	�
��� �����
�� �����: )II(32 2 xxyy +=+′. 
���   ������ g      !�� �"��
������  !!�  :2)( 2 +−= xxxg  
 $%�����
�� �����	�
���  (II). 
3� �# ��� h� $% !�
�� �!��� �(II) ��& '�"� ��& h - g 

  �����
�� �� $%(I) . �����
�� ���� (���)�(II). 
4�      �����
�� ���� ��� �
 (II)    �*���� $��� ,�� ���    �!��� 

�)�

 ��� x0 = 0 �����
�� �� ����)
�� ��-��
 y = x  . 
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ππ!�:  

xyxyE cos)tan1()( =++′     1)( =+′ yyE0. 

1������
�� ���� ���
.
 ��� )( 0E. 

2�  f    �g  �����/ ������ �   �� ����0�� 



 −

2
;

2

ππ  ���� 

xxgxf cos)()( = .    ������ �# ���f      �!����
�� �!� $% 
)(E ��� ��& '�"� ��&� �� g�����
�� �� $% )( 0E. 
3� ���� ��� f !�  )(E ���� 0)0( =f . 

1eC x +− xcos)e1( x−−
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���� )(ty     �������� 1��� ��� (radium)    $" ��0
 2��
�
 �3����t )1���)��� 2���
(����  : 
)(1033,4)( 4 tyty −×−=′  �   0y)0(y = 

1� 2���� 4��� )(ty ��5�� 0y � t. 
2�           �-�!�� �
-!�� �# �������� �
��� 67� �
- 4)�� 

�������� 1��� ��� 67� 8/����. 
t1033,4

eyy 0

4−
×−

= 1600 ans  
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���� )(ty    2�
��)
 $" ��+��.�� ���     �3���� $" t ) 2���

1���)���( � )(ty′    .�� ��� �+��� ���)   ��+��   �3���� $"t 
����  :)(3)( tyty =′ 
1�     �!3���� $!" ��+��!.�� ��� �# 1
�� ��&t = 0 �!%  

N0 = 1000.�% �
 �%���  �3���� $"  t = 1 h 30 mn9 
2�  ��+��.�� ��� :�7�  �
����
 $" �%��� 2�
 t = 0 9  

t3e1000y = 4 10×9  mn 36 h 4 
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 $" ��������������� �������
�� : 

1(((( 06332 =−− xx
        2(((( 024274 1 =+×−− xx 
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 ������ 1���<� =���f  ���
 ���
 $" �*���� �)�� �+: 
1(((( xxf 3)( =      2(((( xxxf −+= 22)( 
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